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(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

1. Within 30 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that
it contains all the pages in correct sequence and that no page/question is missing. In case of faulty
Question Booklet bring it to the notice of the Superintendent /Invigilators immediately to obtain a
fresh Question Booklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
without its envelope.

3. A separate Answer Sheet is given. It should not be Jolded or mutilated. A second Answer Sheet shall
not be provided. Only the Answer Sheet will be evaluated.

4. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above.

S. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

6. No overwriting is allowed in the entries of Roll No., Question Booklet {No. and Set No. (if any) on
OMR sheet and also Roll No. and OMR Sheet No. on the Question Booklet.

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

8. Each question in this Booklet is followed by four alternative answers. For each question, you are to
record the correct option on the Answer Sheet by darkening the appropriate circle in the corresponding

row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

9. For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero mark).

& 3 Em' rough work, use the inner back page of the title cover and the blank page at the end of this
ooklet.

12. Deposit only the OMR Answer Sheet at the end of the Test.
13. You are not permitted to leave the Examination Hall until the end of the Test.

14. Ifa candidate attempts to use any form of unfair means, he/she shall be liable to such punishment
as the University may determine and impose on him/her.
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16U/101/15 Set No. 1

No. of Questions/s¥i %) wea1 ; 150
Time /QRY ; 2' Hours /9% Full Marks/qUtia : 450

Note : (1) Attempt as many questions as you can. Each question carries 3 marks.

One mark will be deducted for each incorrect-answer. Zero mark will be
awarded for each unattempted question.

AfFIes T R ' FH F TS B wedkw gy 3 3% w7 2| UHE
Wm%hwﬁamml-maaﬁﬂﬁmmmimqa
il

(2) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

aﬁmﬁmmmaﬁm%ﬁmmﬁﬁ,a’rmmm
gl

1. The total number of Stock Exchanges in India is
WE ¥ 39 Wy fauftrl # g 2

2) 31 -
(1) 20 @) (3) 22 4) 23

(171) 5
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16U/101/15 Set No. 1

2. On dissolution of a firm, all the assets are transferred to Realisation Account at
their

(1) written value
(2) market value
(3) book value

(4) cost or market value whichever is less

o ¥ T w, wh waiE T R A e @ 8

(1) iRk 78 W (2) TR 8 W

(3) @& 4 W (4)ammm1{aa’hﬁwﬁ

3. SEBI was established in

T wn 5= g A7

(1) 1988 (2) 1998 (3) 1992 (4) 2002
4. In India NIFTY and SENSEX are calculated on the basis of

(1) market capitalisation (2) paid-up capital

(3) free-float market capitalisation  (4) authorised share capital

mﬂﬁwﬂﬂtﬂﬂmﬁmmmmma?
[1)amltiﬂ'ﬂ“1 (le‘iﬁ
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The financial instrument with shortest maturity period is

(1) call money (2) certificate of deposit

(3) commercial bill (4) treasury bill

w8 &0 wfuwm Efy aen el svew f-ar 27

(1) =t g2 (2) S WWI-UA  (3) dviA® @ (4) ween R
Commercial banks or Development banks issue this document

[lj commercial bill (2) treasury bill

(3) certificate of deposit (4) commercial paper

AffRE F= a1 R § AF-w AR 0 F@ E?
(1) == e (o) = fm (3) S WAWm-wR  (4) T v

When shares are issued at premium, premium amount may be utilized for
(1} issue of bonus shares (2) payment of dividend

(3) payment of operating expenses (4) redemption of debentures
ﬁ:ﬁm}mﬁrmﬁﬁamﬁm,m&uﬁlmmemmg

(1) 9@ ¥t % frfm g (2) ST AR 3G

(3) REaH %4l & ye ¥ (4) Fomst % frdvem ¥q

Which one of the following is not the objectives of SER] ?
(1) Protection to the investors

(2) Control over brokers

(3) Protection to the industrialists
(4) Checking the insider trading

(P.T.0)
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frafafgs & @ F-w ¥ = T@ 7@ 7

(1) Faw=l $i gean (2) TEmEl W P
(3) Jarmfadl H guam (4) i fen @ aF

9. Which one of the following is not :-.; part of capital market?
(1) Gilt-edged market (2) Commercial paper market
(3) New issue market (4) Secondary capital market
Fefafgs § @S- §si a9R Fo9m T 7
(1) A8 Sl AT (2) TRfRF T =R
(3) T4 FiH SR (4) fofrs st sem

10. Which onc of the following is not a function of the new issue market?
(1) Origination of securities | (2) Underwriting of securities
(3) Distribution of securities (4) Administration of securities

ﬁﬁmﬂﬁéﬂﬂﬁ-mﬁﬁﬁ'ﬁwmmwﬁ%?
(1) wfovfeat #1 3grH 2) st @ s
(3) whvfert w1 feraoor (4) Sfeifadi 1 TR

11. Listing of the securities on the Stock Exchanges does not help the company In

(1) raising funds

(2) curtailing underwriting COSts

(3) widening the market of securities

.o the soundness of securities
teeing
(4) guaran

4
(171)
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=y fauftn § sfgfell & gefter @ et frm § 3 fred o w7 e ?
(1) Nl N TG #

(2) sfri =@ B = FS B

(3) Wiafadi & &=k i fawga & #

(4) st i ggem 6t yamf 3 F

12. The most important function of a Stock Exchange is to
(1) safeguard the interest of investors
(2) help in the capital formation in the country
(3) provides facilities for speculation

(4) provide a ready market for all securities

= i % gaffs seepl w6t @
(1) Fraw=t it &g 6 @ w5

(2) 39 % qsit Fmin 4 T ==
(3) wgashl & o glewr wem wen
(4) o viefodt & fau dam amm =0

13. Which one of the following is not g party of depository system?

(1) The Depository Participant (2] The Investor

(3) The Broker (4) The Issuing Company

frfefan 4 @ =4 feuifved vgfl o qarmm = 27

(1) Feutforedt wiéfrdz (2) v

(3) Z@Te (4) 3N SwA g
(171) 5
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16U/101/15 Set No. 1

14. Which one of the following is not a method of floating new issues in the ‘Primary

Market’?

(1) Public issue by Prospectus (2) Offer for sale

(3) Making the contract '(4) Private placement
frefafies 8 2 3R-m ‘mufs e’ § T e & eda A fafy 7@ &7
(1) vfaaww g g fefm (2) fa ¥ R waE

(3) THTGE e (4) Fsht <z

15. In which market, old shares are purchased and sold?

(1) Capital Market (2) Primary Market

(3) Secondary Market (4) Money Market
o e # T s A G0Q @ faEh A 27
(1) ISt eIk (2) o sem (3) ol AW (4) T SN

16. Financial Statement Analysis does not include

(1) Trend Analysis (2) Fund Flow Analysis

(3) Cash Flow Analysis (4) Income Statement

Wmmmﬁm%
(1) 37 Fawer (2) Frw yaTE s
(3):13319315%“ (4) ¥@ faam
6
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16U/101/15 Set No. 1

17. Calculate operating profit ratio when net sales are ¥ 20,00,000, gross profit is 20
percent and operating expenses ¥ 40,000

(1) 14 percent  (2) 20 percent  (3) 18 percent  (4) 16 percent

IRETeH @Y JgUId H TOHT FiNE WE 3G TRt ¥ 20,00,000, FFd AN 20% YT
giEeE 9 € 40,000

(1) 14 vfowma (2) 20 gfeem (3) 18 i (4) 16 Shrm

18. Claim not yet acknowledged as debt against the company, is called

(1) current liability (2) contingent lhability
(3) provisions (4) reserve and surplus
T St f 7% Foht F R oww F A w @ R, Feed #
(1) T AR (2) WA A (3) T 19 ¥ @
19. Sale of fixed assets is to be shown under the head
(1) operating activities (2) financing activities
(3) investing activities (4) any other activitieg
ol gy R ot B e s & e Ramn s 2
(1) afarem TR (2) fasfa nfefafy
(3) fraw wfafy (4) ¥ Ay
20. The expenses related to the main operations of the businesg are
(1) selling expense§ (2) administratiye eXpenses
(3) operating expenses (4) non.-

adm’ms"'“tivc Xty
(171) 7
.T.0)
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16U/101/1S Set No. 1

A F Y& G ¥ gEfia 79 FEen §
(1) fashl =79 (2) St =
(3) HETeH =9 (4) M-yoafs =g
21. A Financial Statement that shows both rupees and percentages in the report is
referred to as

(1) 2 Common Size Statement

(2) a Relative Statement of Equity
(3) a Balance Sheet

(4) a Proportional Financial Statement

w Y R fewm SR aw vieww @A # Yded d gufar 2, e € 0
(1) O R fEw (2) GHE w1 WA fE
REEUCERER (4) ngurfas forffa faem

22. Net Working Capital is
(1) current liabilities less current assets
(2) marketable securities and cash
(3) the excess of current assets over current liabilitics

(4) total assets less current assets
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16U/101/15 Set No. 1

23. While preparing Cash Flow Statement, ‘cash and cash equivalents’ consist of
assets which can be converted into cash within

(1) 2 months {2) 4 months (3) 3 months (4) 6 months

TG yarg faawor fmin & N e W@ e g’ 3 awfval € 9 i
@Y # gfafda ) w1 gadt 27 - e

(1) 2 v (2 47 (3 3 =R (4) 6 7ER

24, The- ratio which provide information regarding the long-run operation of the
business is

(1) activity (2) solvency (3) ﬁrofitability (4) Yiquidity
w%mmﬂm@mﬁnwﬁmwﬂ

(1) Tl . (2) MY-gw (3) emEEwa (4) AT

25. Amount set aside to meet the losses due to bad debt js a

(1) provision (2) reserve (3) liability (4) fund
T W F el ¥ R e 9N A o R
(1) y&agH (2) 999 (3) TR (4) Ty

26. The cost of goods sold is ¥ 10,00,000, Opening stocks ¥ 80,000

 ; 1120,000. Cajculatc inventm‘y turnover ratio " ClDSIng Btock

(1} 40 times (2) 10 times (3) 30 times (4) 20 times

% w Am oW e 10000 Tefr
,00,000, wrfryrs
€ 1,20,000. T 3 omum £ mumy £ ¢ 60,000, 3R ety

(1) 40 T (2) 10 1. (3) 30 T
(171) 9
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16U/101/15 Set No. 1

27. Accrued incomes are shown under

28.

(1) inventories (2) investment

(3) other current assets (4) current investment
IR o feard st 2

(1) &4 (2) faw

(3) ¥ =], WeAAl (4) = faam

Discount on issue of shares and debentures is

(1) fictitious assets (2) current assets

(3) current liabilities (4) miscellaneous expenditures

frifin ool W@ woE W FAA R

(1) TEa EwtE (2) =Te] wwfoEl
(3) =] | (4) fafea =29
20. In Balance Sheet, assets are shown in the order of
(1) permanence (2) liquidity (3) market value (4) None of these
e R sl f wW A ot owdt R
(1) ERE i (2) T R H

(171)

] g T
(3)W“§“Wﬁ @ ¥
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30.

31.

32.

(171)

16U/101/15 Set No. 1

In a business, Cash sales are ¥ 7,20,000, Credit sales are T 80,000, Cost of
goods sold is T 6,00,000. Find Gross Profit Ratio

(1) 15 percent {2) 65 percent (3) 25 percent (4) 33 percent
W WE@E A awg fasht T 7,20,000, 39R Al € 80,000, 3T W ww A @r@
€ 6,00,000 %, W hd @V UM T Wl

(1) 15 gfawma (2) 65 Wl (3) 25 Wi (4) 35 wferera

Marginal utility is equal to

'{1) total utility minus average utility

(2) -addition to total utility

(3) total utility divided by the number of units. consumed
(4) total utility plus average utility |
dimr IRl s A @

(1) $9 WP — hem st

(2) Fo swaf § gfg

(3) $o s wm oy ) Inim A T el

(@4) o It + ftga swEifia

E:; ps::o;aeci aglll:soc;f water generally gives less utility to a thirsty person. This
(1) law of diminishing marginal utility

(2) law of diminishing returns

(3) law of equi-marginal utility

(4) law of demand

11
(P.T.0)
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16U/101/15 Set No. 1

@Wﬂﬂﬁﬂqﬂmmﬂm:mmmmiimﬁw
T AT R7? |

(1) SHHFT I9ATFIAT 5@ | & hRl
(2) FFTA Wahd T AW & w0
(3) Tu-dra Iwfien faw & s
(4) atn & fram F Fw

33. Demand curve for a Giffen Good will be
(1) horizontal (2) vertical
(3) slopping downward to the right (4) slopping upward to the right
fif Feq 1 win T & ’
(1) &fow | (2) 3
(3) TRt 3 fAr &3 (4) TR 3l e g

34. A consumer is in equilibrium, when his budget line is

(1) above the indifference curve
(2) below the indifference curve
(3) tangent 10 the indifference curve

(4) cut the indifference curve
@mwwmﬁm%@m_mm
(2) qeEd TF H 9 gt 2

mamﬁﬁmﬁﬂﬁ% (4) FTES TF A R

12

[ ]
gcollegedunlaa
India’s largest Student Review Platform

—



16U/101/15 Set No. 1

35. For an inferior good, income elas'ticity of demand is

(1) negative (2) positive (3) zero (4} infinity
@ i ah B I F R, @ A oo @ A
(1) AU (2) "qTcH (3) 19 (4) A

36. Average product is maximum when
(1) marginal product is greater than the average produét
(2) marginal product is less than the average product
(3} marginal product is equal to the average product
(4) marginal product is negative
AT I waifs & @ .
(1) ¥ 3915 3ftEa 3@ 3 aftss & 2
(2) ¥tra I fed IR @ W o 2
(3) W 3 Siwa R ¥ wUet gan
(4) dr<r I FonoTw w &

37. With increase in output, which cost increases continuously?
(1) Average cost (2) Marginal cost (3) Fixed cost (4) Variable cost

S # 3fg F Wy FA-N T wmER wed R
(1) fteq @ (2) e @rE (3) fRR @rE (4) wRadashe amg

(171) 13
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16U/101/1S Set No. 1

38. Which of the following curves is not U-shaped?

(1) Average fixed cost curve (2) Average variable cost curve

(3) Average total cost curve (4) Marginal cost curve

fm 4 9 S9-T 9% U-3T&R &1 728 a1 27

(1) 3t|d X &P 9% (2) 3Nga siadsie & a%
(3) TS F& EVE TH (4) HTa |G TR

39. The demand curve of a firm under a perfectly competitive market will be

(1) vertical (2) horizontal

(3) negatively slopped (4) positively slopped

qui ufeft sem # v @ @ it @ ®m

(1) 3= (2) e

(3) RUTH® @A JTeAl (4) FHRHS QI Il

40. The concept of selling cost was propounded by

(1) Alfred Marshall (2) Edward Chamberlain
(3) Joan Robinson (4) A. C. Pigou
fosra v ®1 Wed wiquried feRam e
(1) HS AHE T (2) Teag WM G
(3) s Ve a0 (4) To Ho i gm
(171) 14
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41. Ordinal measure of utility is required in

(1) Utility Analysis (2) Demand Curve Analysis
(3) Indifference Curve Analysis (4) Revealed Preference Analysis
I & HH T WY B FEEHa

(1) swafim favemm A (2) o1 T% favewm #

(3) qeen T fawerwr # (4) Fe Afmm faverw F

42. Under monopolistic competition, a seller gains abnormal profit when
wEtyeite sfiedifm & o=l o fghe | sam o YW €@}, w.
(I} MR = MC (2) AR = AC (3) AR > AC (4) AR < AC

43. According to Marshall, the law of diminishing returns applies on
(1) agriculture {(2) industry
(3) neither agriculture nor industry {4) agriculture and industry both

T % 3FER, A g Ram a2

(1) F & (2) s
(3) 70 N 3 & o (4) FN AR A 2N 4§
44. According to Keynesian theory of employment, employment depends on
{1) aggregate demand (2) aggregate supply
(3) effective demand (4) quentity of money
(171) 15

(P.T.0)
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9 F AR g F oER, Jem Al w2

(1) @w AT W (2) @@ I W
(3) WWTETeTeH W W (4) 7@ H T W
45. On which date the Rail Budget for 2016-17 was presented in Parliament?
(1) 25th February, 2016 (2) 27th February, 2016
(3) 28th February, 2016 (4) 29th February, 2016
e fafu W ad 2016-17 &1 1 a9 g9e § Ty fan w7
(1) 25 ®@&d, 2016 @ (2) 27 ®El, 2016 #
(3) 28 wadl, 2016 = (4) 29 ®&l, 2016 #

46. A sole proprietor decided to use the business bank account also for his personal
affairs. Which of the following accounting principles is violated?

(1) Going concern (2) Consistency

(3) Entity (4) Dual aspect
Wwﬁw%hﬂﬁﬁmwﬁmﬁﬁﬁﬁﬁmﬁﬁ%mﬁﬂh
o 2| fre o g W g 8 W@ R7

(1) 9] @EE  (2) eI (3) e (4) feuse]
47. If a trader’s sales amount to ¥ 18,000 and his gross profit and net profit are 60%
and 40% of sales respectively, then his expenses are

IR wh S F e X 18,000 3R IuH gFA @M T Yg W IR F FE:
0% @ 40% ¥, @ Fad = R

1) ® 7 200 (2) T 2,500 (3) T 3,600 (4) ¥ 2,600

16
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48. Which one of the following is correct?

(1) Gross profit + Sales + Direct expenses + Purchases + Closing stock =
Opening stock

(2) Gross profit + Direct expenses + Purchases + Closing stock - Opening stock
= Sales

(3) Gross profit + Direct expenses + Purchases + Opening stock - Closing stock
= Sales

(4) Gross profit + Direct expenses + Purchases + Opening stock + Sales =
Closing stock

F=fafea 4 @ FH-a1 @d 27
(1) &Fa ¥ + foFa + 79 =@ + #9 + oW T = TR TR

(2) T%d AN + TIF T + B + A0 Bhw - v wliar = e
(3) FFT AN + TIY T + A + WO W — 9w R = faws
(4) BFT 9 + Y9 T + HA + WEw wm + i = afen e

49. Outstanding expenses appearing in Trial Balance will be shown on
(1} Debit side of Profit & Loss Account

(2} Debit side of Trading Account
(3) Liabilities side of Balance Sheet
(4) Assets side of Balance Sheet

T2 # 9 e =w quiar Sm
(1) e-af wR % e 95 7 (2) SR TR F Mz gy
(3) anffs RE % afie vy & (4) S % amfy o

(171 | 17
(P.T.0)
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50. Goods of the value of ¥ 500 withdrawn by the owner of the business for personal
use should be credited to

(1) Drawing A/c (2) Sales A/c (3) Owner’s A/c (4) Purchase A/c

AR % @ g @ % I F R T 500 F e F W A AR @ e
T sise & =ity

(1) STE @I (2) fasra @ (3) @t & @l (4) HE Gl

51. Aand B are partners sharing profits and losses in the ratio of 3:2. C is adt:rﬂtted
with } share in the profit. What will be the new profit-loss sharing ratio?

A B UE W & 3:2 % sum § m-gh ated & c o A LW F T
ARER S S R) EM-EI afed 1 T Y 41 g

(1) 3:2:3- . {2) 6:4:5 (3) 6:4:3 (4) 3:2:5

52. In the event of death of a partner, the accumulated profits and losses are shared
Ly the partners in their

(1) old profit sharing ratio - (2) new profit sharing ratio

(3) capital rato (4) equally
ﬁ?ﬁ@ﬁ@ﬂﬁﬂﬁﬂﬁ,éﬁﬁmmﬂﬁrﬂﬁwﬁmmﬁzﬁ%aﬁ
T A § g

(1) TR w e e (2) 71 @ ferr U

@) qeft g 14) W=R0

53. Income & Expenditure

(1) Real Account

Account is a
(2) Nominal Account

(4) statement
(3) Person

18
(171)
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IR R =Y wE R ™
(1) anafes d@n  (2) sl d@r (3) =fem @ (4) fEo

54. Under Annuity Method, the amount of depreciation

(1) fixed for-all the years (2) increases every year
(3) decreases every year (4) None of these

IF g vgl % srla g A i

(1) ¥ ol ¥ fiu o Tum (2) wfead aedht @

(3) witad wedt 2 (4) ¥} g T

95. X Co. Ltd. forfeited 20 shares of t 10 each on which t 5 per share were paid up.

The company issued these shares @ ¥ 8 as fully paid up. Amount transfer to
capital reserve will be

(1) T 40 (2) T60 (3) T 20 (4) T 100
56. All adjustment entries in Final A /cs are written at two placeg

(1) Trading Account and Balance Sheet

(2) Profit & Loss Account and Balance Sheet

(3) Trading Account and Profit & Loss Account
(4) Trading or Profit 8 ng;s Account and Balance Sheet

(171) 19 |
(P.T.0)
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e gEReTE ® ofd @R s g Q) 9 foran s R
(1) JNR @@ o ot fag o

(2) aM-g @@ aur e g A

(3) AR @R Y AM-TM @[ A
(MWNTIEIﬂTmm-mﬁmmmﬁj;ﬁgﬁ

57. Profit on cancellation of own debentures is transferred to
(1) General Reserve
(2) Capital Reserve
(3) Secret Reserve

(4) Profit & Loss Appropriation Account

mmﬁ%ﬁwﬂwmmmﬁﬂamma
(1) Fw EE (2) qsft @

' _ify. fmiee @
(3) T8 ¥ (4) S-EIH

58. Interest on drawings 18

(1) an expenditure for business (2) a gain for the business

i ' ain both
(3) neither expenditure nor gain (4) expenditure and g

e W S
¥ fom wife
(1) & e mw- |
(3):{??(?:11!1‘351"1"3"SITﬁI (4) = @ Wiw 3
20
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59. Del Credere Commission is calculated on

(1) cash sales | (2) credit sales

(3) total sales (4) credit sales reduced by cash sales
vty wfivm f T f o R

(1) 7 faFn W (2) M fawT w

3) T fapa w (4) 3 fmpa & A 7= e = w5

60. The use of FIFO method is suitable

(I) at rising prices (2) at falling prices

(3) at constant prices (4) at fluctuating prices

P ot w1 ™ I9ge d R

(1) ¥ 3y H Rfy o (2) wZdt Fima £ fufy o

(3) R fimg H ™fy 3 (4) IMM-TgE g H BF I
61. Actual money refers to

(1} unit of currency (2) money of account

(3} commodity money (4) representative money

arafe® g & arad R

TR F@Agm @) gy (4) SRy
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62. Monetary Standard refers to

{1) principal method of regulating the quantity of standard money

(2) principal method of regulating the exchange value of standard money

(3) principal method of regulating the quantity and the exchange value of
standard money

(4) principal method of regulating the purchasing power of standard money

EEE @ aed R

(1) o g 6w & P B ge o

2) ywiivi g & fafor g & e $i g o

(3) s gz1 # AE au I fafe qe % Fem R oge o
(4) e g 6 FAEE % Haw ) ge g

63. NABARD has been established on the recommendation of

(1) Talwar Committee (2) Tandon Committee

(3) Narasimhan Committee (4) Shivaraman Committee

Taré e fRad wegl W R WY
(1) TR At (2) ¥& wiufd @) T wfif () Rewn w6

64. The relationship between value of money and general price-level is

2) indirect
(1) direct @)
: tional
(3) inverse relationship i R

22
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qg % ged i A Hind W & A" w S @Y 98 R
(1) 998 (2) AAIH

(3) fawdm snquifas w=y (4) |

65. Which of the following is considered as the Economic Evil of Money?
(1) Encouragement to borrowing
(2) Encouragement to overcapitalisation
(3) Encouragement to materialism
(4) Encouragement to borrowing and overcapitalisation
Prafefen & @ B-m gz = e A T S 27
(1) 390 9 + WA |
(2) -4 RN WrewrEA
(3) “ifiware | vreaTed
(4) SUR 991 T Afa-Jim i e

66. Indian Rupee is

(1) standard money (2) token money

(3) standard token money (4) optional money

RGO

(1) R gz @ (2) Wi 77

(3) It Hisias gg1 2 (4) Moy ey 2
(171) 23
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67. The prevalent name of Gold Currency Standard is
(1) Full Gold Standard (2) Gold Bullion Standard

(3) Gold Exchange Standard (4) Gold Parity Standard
Ul TeEE @ yefoa W @

(1) O @oEm (2) @l TrEE

(3) Tl fafemg o= (4) @l gHaT 9=

68. According to transaction approach, which of the following factors determine the
general price level?

(1) Quantity of money in circulation, its velocity and the volume of trade
(2) Volume of credit instrument and its velocity

(3) Quantity of money in circulation, volume of credit instrument and volume of
trade |

(4) (1) and (2) above

Wﬁ%ﬁﬂﬂﬂm%ﬁﬂﬂ,ﬁﬂ%ﬁﬂﬂﬁﬂaﬂ?—mmwwﬁﬂf&a

Far 27
{1)mﬁgmﬁm,wﬁamnﬁamaqaﬁqéﬁmﬁﬁmﬁﬁﬁm

(g)m—‘ﬂaﬁw,mﬁwnﬁ
(SJmﬁggﬁqm,mﬁ-gmﬁmmaﬁaﬁnéﬁmﬁwgaﬁﬁm
(4)3@?5(1)@ 2)
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To reduce the inflationary gap

(1) the amount of tax should be increased

(2) production of goods and services should be increased
(3) (1) and (2) above should be adopted

(4) Dear Credit Policy should be adopted

WE W P W F ¥ R

(1) =0 R/ wmn f 3fg seh =iRo
maﬂaﬁ!!éﬂaraﬂﬁ:mﬁmmﬂm

'{3) IRIF (1) 3R (2) | JwAET TR

(4) #eh s/ A AT Wi,

Which of the following is an asset for a hank>

(1) Capital (2) Reserve Fund

(3) Loans and Advances (4) Bills Payable

h%%qﬁw%%aﬁﬂﬂ?-ﬁqﬂmﬁﬁ?

(1) 4 (2) qfém iy

(3) TR A =W awr TwPrt (4) 7 forer

Of all the assets of a bank, the mogt non-profitable asset jg

(1) buildings and furnitures (2) cash

(3) call money (4) buildings, furnitype i
25
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hﬁ@ﬁqﬁamﬁﬁﬁQWQﬁaﬁﬁquw%%
(1) 7FH T FA=R (2) TG THH

(3) A=Al qgl | (4) WM, BT q91 THG THH

72. Dead Stock of a bank is
(1) office, buildings and furnitures (2) moncy at call and short notice
(3) treasury bills @ commercial bills
W ¥% W Ud &Y 2

(1) e, wa qu HHe (2) - Les
(3) SR o (4) =i faum

73. The issue of currency notes by the RBI is

(1) Proportional Reserve System (2) Minimum Reserve System
(3) Fixed Reserve System (4) Maximum Reserve System
o fed % % e friw A ygfa 2

(1) SR e | (2) < FY G

(3) e AN Tgid (@) e F TG

itati ' trol?
Which of the following is not a quantitative method of credit con
74. 1C :

2) Open market operations
(1) Discount rate (

; . ik
(3] Vaﬁablﬂ reserve ralio (4] Cl‘edlt rationing

26
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frefefes § ¥ - arg Pago 6 oo By T8 27

(1) wR T (2) G IR H Frd
(3) yRada HreTUE - (4) w@ 6t amfEm
75. Which of the following is used for International Monetary Transfer?
(1) RTGS (2) NEET (3) SWIFT (4) None of these
FAUYE qo1 WA & g fege wim @ 27
(1) IMMeHohoumo (2) THoZoZodo
(3) TWHoTH oG oTHodto 4) ¥ ] R TE

76. If Raj sells an iron for T 400 gaining ; of its CP, find the gain percent

MW T W A T 400 § Aua 2, A 39 arE
yfdvra wa FiRr WS | S

(1) 20% (2) 50% (3) 25% (4) 75%

77. By selling 100 pens, Mohan gains the SP of 40 pens. ping his gain percent

W A, &
;gama EELT mhtﬁmmmmmmﬁlmmmm

(1) 40% (2) 662% (3) 333% (4) 443%

78. What price should Ratan mark on a fan which c
20% after allowing a dlscount of 10% ?

mﬁﬁﬁﬂuﬁ@mm.@mqﬁ.mm'
mHI%mﬁm?ﬂﬁ%mmnﬁmmm.m;ft&ﬂoo 7, frR fy

(1) T 5,000 (2) 6,000 (3) ® 3,600

osts him ¢ 3,000, sg a4 to gain

[4) t 4
(171) 27 -
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79. Ravi and Karti borrowed T 3,500 and ¥ 4,000 respectively at the same rate of
interest for 21 years. If Karti paid ¥ 150 more than Ravi, find the rate of interest

(1) 12% p.a. (2) 14% p.a. (3) 11% p.a. (4) 10% p.a.
f ok Ff 3 F9: € 3,500 3 T 4,000 FAR W R W 2} 9 F fow 39w
R af w3 @ @ ¥ 150 s e fR, =N R I AR

(1) 12% Sfead  (2) 14% Whad  (3) 11% Wed  (4) 10% BIGEL]

80. A certain sum of money amounts to ¥ 1,260 in 2 years and to ¥ 1,350 in S years.
Find the rate of interest

w geEd 2 T H ¥ 1,260 & a1 & a5 o H ¢ 1,350 & @ 21 ;N X |
i Fifor
(1) 3-5% (2) 2:5% (3) 4% (4) 2%

81. Sudhir and Karim together can complete a work in 195 de_xys. If Sl'.:ldhir is th?ee
times as good a workman as Karim, in how many days will Sudhir alone finish

the work?
(1) 10 days (2) 25 days (3) 20 days (4) 15 days
fk afs & &
mwwmﬁmlsﬁﬂﬁwﬁmﬂlaﬁg
gm;ﬂﬂﬁmﬁmmﬁ,ﬁgﬁﬂﬁmﬁmﬁﬁﬁwm&m

(1) 10 (2) 25 feA (3) 20 fea | (4) 15 f=

tres long train crosses a 185 metres long tunnel in 45 sec. Find speed
€

82. A175m :
of the train 11 km/hl'

et st
@ 175 At aﬂﬂ%lBS

A km/br & T
20-8 km /1"

gﬁﬂﬁ45ﬁ¢3ﬁm‘ﬂﬁi\%ﬁnﬁr

2) 288 km/hr (3) 182 km/hr  (4) 8 km/hr
(1)

(171)
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Simplify
E R
5x+2 -~ 2x+95
4x-8 x?_-x-2
S5x+9 2x+5 2x+3 5x+3
(1) 2
4x+4 ) 4x -2 ) 2x + 4 3 o S
Simplify
T fil
4la-6{a-2(3a-4a +3)}
(1} 8a-122 (2) 28a +114 (3) -68a -144 (4) -38a -124

A path of uniform width 3 cm runs around the outside of a square park of side
18 cm. Find the area of ‘the path '

& ER wh Rl q= 18 cm R, % 9w 9@ s THIAH
IS TR0 e} TR W &% YH $iRA e -

2
(1) 324 cm (2) 476 cm? (3) 188 cm? (4) 252 cm?

Determine the area of a triangle whose sides are 5 cm 13 em and 12
; cm

@ﬁgﬂﬁﬂ'ﬂﬂﬂﬁSem 13cm3ﬂ'{120m'§',mmm#&a

2 |
(1) 36 cm (2) 30 cm’ (3) 42 cm? (4) 38 cm?

(P.T0)
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87. A copper wire when bent in the form of a square encloses an area of 12} cm?. If
the same wire is bent in the form of a circle, find the area of the circle

Q%aﬁ'ﬂm{m@aﬁ%mﬁtﬁawt,m121cm23ma?ﬁﬁm%|ﬂﬁ
wmﬁ@qﬂ%mﬁﬁym%,ﬁ@ﬂmmw

: 2
(1) 154 cm* (2) 134 cm? (3) 164 cm? (4) 124 cm

88. Express as a positive power of three (3)

4 () F oS U@ % ®9 O oFh A
(97")x(27)
(81]'2:&3&

1 1 LS

89. A sum of money is divided among Dev and Deep in the _ratin 5:13. If Deep’s

share is T 780, find the sum of money
@mﬁaaﬂiﬁﬁs;m%ﬁmﬁﬁwﬂﬂﬁmw%lu&aﬁm%ﬂ

t 780 3, @ TR 9 i

(1) T 1,140 (2) T 1,260 (3) ¥ 1,090 (4) T 1,080

' ?
90. 15 men can repair a road in 28 days, how long will 35 men take to do so

(1) 18 days (2) 12 days (3) 14 days (4) 16 days
15m@mﬂmzaﬁqﬁmm%,aﬁm 35 el @ &, @
e fem @m?

1) 18 @ ) 12 f @) 14 & @ 16 &
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91.

92.

93.

94.

95.

(171)
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In Windows Operating System, the type of file with the .mpeg extension
indicates

(I) audio (2) video (3) temporary (4) system
faee aiffén frm § .mpeg extension A e ' 6 TId T Sear 27
(1) i (2) fafsm (3) 2w (4) Toreem

The quality of printer is measured by which unit?
Bt # ome e e o o o 22
(1) CPI (2) MPI (3) RTI (4) DPI

Which was the most popular first generation computer?

Ao 4 3 37 gad sRig wam wow T A7 7
(1) IBM 1650 (2) IBM 360 (3) IBM 1130 (4) IBM 2700

Which will not harm a computer system?

(1} Firewall (2} Virus (3) Trojan Horse (4) Worms
ot o e @ THEE T Yo ¢
(1) T (2) IR (3) T wd 4) 3

Which type of printer uses ‘ribbon’?
(1) Laser Printer (2) Plotter

(3) Inkjet Printer (4) Dot Matrix Pringe,

31
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97.

98.

(171)

fFa T & B § ‘R’ @ wam g R7
(1) a8 =R (2) =i
(3) Tz X (4) sre-Afdwa B

To join the Internet, the computer is connected to

(1) Internet Architecture Board (2) Internet Society

(3) Internet Service Provider (4) Cyber Police

= A T O ¥ R R W aE gl R

(1) 32 s ard (2) T WA

(3) Tewie ai| warst (4) wgeR g

CPU stands for

(1) Cool Processing Unit (2) Computer Processing Unit
(3) Central Processing Unit (4) Central Processing United
CPU 1 ¥WE Bl 8

() o Safe e (2) e vt gfe

3) ¥ Sk () ¥z Mafem gawes

DTP stands 0T
(1) Data publishing (2) Data Printing

(3) Destop Printing

32

(4) Desktop Publishing

[ ]
collegedu nia
° =] India’s largest Student Review Platform

—



16U/101/15 Set No. 1

 DTP % wwm 0w &
(1) vl (2) wa B (3) Yem B (4) e AW

99. Which one of the following does general calculations for CPU ?

(1) ALU (2) Bus (3) DIMM (4) Control Unit
CPU & f i ™HR R Fa 27
(1) ToToYo (2) %9  (3) Somomowo (4) FRIA Ife

100. LAN stands for

(1) Local Area Network (2) Live Arca Network
(3) Lost Area Network (4) Long Area Network
LAN &1 3ve 2

(1) dier ot Yo () v\ g e

(3) IR i Azas (4) aiF e S

101. Linux is a

(1) database: | (2) graphics

(3) operating system (4) animation software

T R =

(1) SeEw (2) Tk

(3) SR Rreem 14y TR G
(171) 33
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102. Which one is not an example of computer hardware?

(1) MS-Word (2) Mouse (3) Printer (4) Monitor

A A B TR TEAW F IGEW T R
(1) Wowo-a8  (2) WA (3) B= (4) wF

103. To communicate live through Internet, which one 1s used?

(1) Talk (2) Chat (3) Email (4) FTP
Rﬁzﬁmmmm%ﬁlﬂﬁaﬂmﬁNm%?
(1) TH (2) 2 (3) A (4) Thodlodlo

104. Which of the following is an example of Bluetooth?
(1) Personal Area Network (2) Local Areca Network

(3) Virtual Private Network (4) Wide Area Network

sza fm A @ R G IR R
(1) TETE o e . 2) e T e
3) T W AT (4) TS T AT

105. Size of [Pv6 address is

1By address T TR T 2

(1) 32 bits (2) 64 bits (3) 128 bits (4) 265 bits

34
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106. ‘Theory of Exception’ was propounded by

(1) Henry Fayol (2) Theo Haiman
(3) F. W. Taylor (4) Herbinson and Mayers
‘HER = g & sfoues @
(1) &8 %= (2) et &
(3) Tho T&Yo T (4) & @ W
107. Selection of best option among available different options is called
(1) planning (2) organisation
{3) decision making {4) controlling
J7ee fafi fosedt 3 & walve fowes #1999 won Feem @
(1) e (2) ¥ (@) fofz (4)

108. Which is the right sequence of management functions?
(1) Planning, Staffing, Organising, Directing, Motivating and Controlling
(2) Planning, Organising, Staffing, Motivating, Directing and Controlling
(3) Planning, Organising, Staffing, Directing, Motivating and Controlling
(4) Planning, Staffing, Organising, Motivating, Directing and Controlling

(1) A, waffn, dmem, Adwm, sfgo 7o s
2) P, |G, Wi, ANIT, RAEvE Fer ELEW
(3) FRISA, e, =i, R, i g A
(4) Farem, =ifen, @rea, SRR, Ay qen S

(171) 35
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109. Find the odd from the following
(1) speed boss (2) repairs boss
(3) disciplinarian (4) inspector
frfafes § 3 fawm =t =3 i

(1) nfa (2) TG TEE  (3) SFEATH (4) Frfes

110. ‘POSDCORB’ word is given by
(1) Henry Fayol (2) F. W. Taylor
(3) G. R. Terry (4) Urwick and Gulick

‘POSDCORB’ ¥&2 e 2

(1) &0 waa (2) Tho T&Yo e
(3) o Imo 0 (4) W= @ T
111. Find the odd from the following
(1) whe;el " (2) probability (3) cluster (4) gossip
Aofifea 1 @ fwm & 9 il |
(1) wiE (2) EwTEHl - (3) TR (4) Y

bk -
Which is the highest form of Democratic Organisation from the following:
112. )

isati 2\ Line & Staff Organisation
(1) Line Organisation (2) L

isati Committee Organisation
3) Functional Organisation (4) Co g

36
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ﬁn@aﬁﬁﬂwmmﬁaﬁa@wﬁﬁm@mwm%?

(1) @ "7 (2) Y@ aw wHEd T
(3) TruTeT® diew (4) sfafa @1
113. Find out the odd from the following
(1) Game Theory (2) Race Theory
(3) Queueing Theory (4) Decision-tree Theory

Refofes 4 @ A = == R
Huafgm @ dsfgn @ wRem (@) P-3n R

114. When the subordinates are disciplined, experienced and

_ ; . qQualified, which of the
following leadership styles will be more appropriate?

(1) Autocratic (2) Free-rein (3) Negative (4} Any style

mmm,mqamﬁ,ﬁqmﬁm_mmmm

39 M ?

(1) Frigw (2) T (3) I (4) 13 +ff 9h
115. Which of the following is not an element of planning?

(1) Objective (2} Policy (3) Principle (4) St!'ategy

ﬁﬁ%ﬁﬁﬁﬁ#—mﬁa}ggmaﬁqﬁg?

(1) 3w (2) i (3) fom= 4) iRy
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116. For selection on non-managerial posts, which of the following is useful?

(1) Patterned interview (2) Depth interview
(3) Non-directive Iinterview (4) Stress interview
ﬁ-mﬁ%m@,mﬁﬁﬂ?—mmWﬁm%?
(1) wfamfa @rarsr (2) TEA HIETEHR
(3) AfERm e (4) wRee SR
117. A promoter of a busincss cnterprise may be
(1) an individual (2) a firm
(3) a company (4) All of the above
& AT JEH F JEEE @ gehdl
(1) T Hfh (2) T HH (3) T HA (4) It &l

118. The Purchase Manager talking to Production Manager is a case of

(1) upward communication (2) downward communication

i ication
(3) diagonal communication (4) horizontal commurnic

mwmmmﬁmm@m'%

is vi ich of the following?
: mmand is violated under whic
119. Unity of ¢©

. . Organisation ne
== ; ganiﬂauon (4) Project Organisation

@) Line & Staff Organisation
(1
(3) runctional OF
38
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ffaiaa & @ feed srafa sy A v w1 g @@ 27
(1) &1 a7 : (2) @ am wEd e
(3) Torarens e (4) RIS |

120. The method through which railway engine drivers are trained is known as

(1) Sensitivity Training (2) Vestibule Training

(3) Role Playing Training (4) Virtual Training
aaﬁfﬁﬁm;mmmamﬁm&mmt,aﬁmm%
(1) wagehierar sRigm (2) ZrowErs sl

(3) Wit fFrafer wftreo (4) T gy

121. Which of the following is not an economic objective of business?
(1} Generation of employment (2) Earning profit
(3) Market standing (4) Innovation

ﬁw%%aﬁﬂﬂw-mwmmﬁmmwi?

(1) IR *1 g9 (2) FoRE, T (3) ISR & IRW  (4) Farem

122. Trade includes
(1) selling (2) buying

(3) manufacturing (4) buying and senjng

(171) 39
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=R # afmfea R
(llﬁiﬁm (glm
(3) IAEA FHT (4) Elem @ S=A

123. Which of thc following is not a feature of sole proprietorship?

(1) Risk bearing (2) Agreement

(3) Unlimited liability @ Full control

Srffian @ A9-u1 @i F agu T 27

(1) SHfem @ (2) 3WF (3) andf ol (4) T R

124. ‘Membership by birth’ is related to
(1) Sole Trader (2) Partnership

(3) Cooperative Undertaking (4) Joint Hindu Family Business

F A weEa wetaa ®
1) e S 3 ' (2) e
(3) w3 | (4) v g IRAR 9@ d

transfcrability of share is a feature of

. Non- .
> (2) Private Company

(1) Public Comparny

partnership (4) Holding Company
(3) rar

40
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AW & IwEaeid e wEw R

(1) adsfs Fot = (2) fsht w1
(3) sl = (4) qAURI Ff
126. ‘Equal Voting Rights’ is related to
(1) Cooperative Organisation (2) Public Corporation
(3) Private Company - (4) Government Company
T T’ aefRe @
(1) ¥grt ga7 | (2) qEwE fm @
(3) At Fgft @ (4) &R FUR J

127. Which of the following is not a feature of a company?

(1} Mutual Agency (2) Common Seal
(3) Artificial Person {(4) Perpetual Succession
Feferfs & @ #h-m s 71 wam 7 42
(1) i sty
(2) W ey
(3) Hhm =f (4) Waa IaafEn
128. Which of the following is not g long-term source of bus;j
| USIHQSE ﬁﬂance?
(1) Issue of shares (2) Issue of Adebenty,
es
(3) Trade credit (4) Financial instituﬁon
S
(171) 41
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ﬁw%ﬁiaﬁﬁﬂafmmﬁmﬁammmqﬁa?

(1) vt @ At (2) o & i
(3) =M W (4) forfra s
129, Which of the following is an unincorporated organisation?
(1) General Partnership (2) Limited Ligbility Partnership
(3) Public Limited Company (4) Private Limited Company
frefafas § ¥ B9 ww AfnfE dmed 27
(1) FWR FEE (2) ¥ Frii
(3) v fafidz w (4) T el =

130. Limited Liability Partnership were introduced by which Act of Parliament?

(1) Limited partnership Act, 1907

(2) Limited Liability Partnership Act, 2000

4?2
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131. The major advantage of a franchise is
(1) training and managerial assistance
(2) national recognition
(3) personal ownership
(4) All of the above

TAYER F Y@ @™ R
(1) e @ yervh wema (2) T A
(3) =t w=fir . (4) ITw &+
132. ‘Lack of incentive’ is a limitation of
(1) Sole Trading (2) Partnership
(3) Company (4) Joint Hir;clu'Family Business

N F IR w e 2

(1) s =R $ (2) |rgrt i

(3) =t (4) ¥I% R wRar =aam &
133. ‘Open membership’ is a merit of

1 :
(1) General Partnership (2) Cooperative Organjgqtion

(3) Private Company (4) Public Company

el HE R

(1) T wREd = (2) wEHl T &y

(3) fsft # ot # (4) SrEvhE Eh 5
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134. Which of the following is not a principal export document?

(1) Certificate of origin (2) Bill of lading

(3) Mate’s receipt (4) Certificate of inspection
fFefafan § @ #F-w yam fFafa e T R

(1) 3™ = JHONA (2) fom af® wfen
(3) AW W] (4) Frligo @1 SHIOT

135. The term CIF is used in

(1) internal trade (2) external trade

(3) wholesale trade (4) retail trade

HRoamotGo T¢ TIF &l 8
(1) S S (2) ST@ MR H

(3) dr =R 3 (4|tgauawwwﬁ
?
136. Who presented the Union Budget 2016-17 on 29th February, 2016

it Shah -
(1) Arun Jaitley (2) Amit S

' ] itin Gadkari
(3) Narendra Modi (4) Nitin Ga

201&17@1 M §9¢ 29 &l 2016 # fFEd vw fam?
ard

| a3 o afmme (@ FTFREA (@) FR e
(
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137. Who is the Chairperson of NITI Aayog?

(1) President of India (2) Finance Minister
(3) Prime Minister (4) Defence Minister
Hft M 1 sy A 27
(1) ugufy (2) = wsh (3) WA (4) T T
138. The ‘Swachh Bharat Abhiyan’ was launched by Prime Minister on which date?
(1) 26th January (2) 15th August
(3) 10th September (4) 2nd October

(1) 26 Saft (2) 15
TG (3) 10 Tawar (4) 2
I
139. N ' ‘
ame the 29th State of India which came into existence in June, 2014

1
(1) Goa (2) Telangana
(3) Lakshadweep Island

(1) T (2) ¥

3

(3) wreghy Ziy (4) A=ER & Pevaw gy
140. Who coined the term ‘Green Revolution’ in India?

M '

(1) Manmohan Singh (2) Dr. M. S. Swamin,yy,

(3) Dr. William Gade (4) D vy Kuri -

urien
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mﬁ‘ﬁﬁﬁﬁ?ﬁ’wﬁmﬁmmm?

(1) FoE e (2) Sfo THo THo FHAATA
(3) o faferm e (4) 2o o g;ﬂ!n
141. India’s first All Women Bank, ‘Bharatiya Mahila Bank’ was opened in which
year? |
WA % Teen wel A °4F, ‘mnﬁmh’ﬁwﬁaaﬁﬂ@?
015
(1) 2012 (2) 2013 (3) 2014 (4) 2

142. Which of the following will be simplified by the proposed Goods and Services

Tax (GST) ?

direct tax
(1) Direct tax (2) In

(9) Salcs tax only (4) Service tax only

maﬂtaﬁam(esﬂ%aﬁﬁmmmmam?

¥
(1) Wea& H (2) ATEH (3) % d=w &= (@) fa wfdm

143. What is the full form of SEZ ?

ic Zone
(1) Special EconomiC Zone (2) Smart Economi

5pccial Electricity Zone (4) Smart Electronic Zone
(3)
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144. Which of thr. following sectors is contributing maximum in GDP of India?

(1) Agriculture Sector | (2) Service Sector

{3) Manufacturing Sector (4) Mining Sector
Feeen § @ BH-T @ v ¥ o e 3w § oftwan dmem w27

(1) 7R &7 (2) 81 &3 (3) P &= (4) TR X

145. When was ‘Make in India’ launched in India?

(1) September 25, 2014 (2) September 25, 2015
(3] April 1, 2015 (4) January 10, 2016
TR AE Wi R oA w Ao

(1) R 25, 2014 (2) fawar 25, 2015

(3) a1 1, 2015 (4) =& 10, 2016

146. When was ‘Digital India’ launched in India?

(1) July 1, 2015 (2) March 1, 2015

() January 1, 2016 (4) July-26, 2015

e ¥ Rfew R’ @ sy Fa & 77

(1) % 1, 2015 (2) o™ 1, 2015

(3 w7t 1, 2016 (4) ka6, 915
(171) 47
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147. Which country is not the member of BRICS ¢

(1) Brazil (2) Russia (3) India
F-w T Tee w1 ggw @ R7
(1) STSiE (2) &9 (3) W

148. UNCTAD was established in the year

UNCTAD # w fe ad & §@7
(1) 1988 (2) 1964 (3) 1956

149. India’s largest exporgs are to

(1) USA (2) Japan (3) Russia
wTd & gea e fata feE >N F WY 27
(1) JoHoTo (2) S (3) @

150. | which sector 100% FDI is not allowed in India?
L] n

(1) Educationt

xRN

48

' (2) Tourism (3) Agriculture

[4i Cuba

(4) ¥

(4) 1960

(4) UK

(4) qo%e

(4) Insurance
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